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Abstract:

The customary marriage has spread significantly in Algerian society due to
several reasons, and it is a valid marriage when meeting all the elements and
conditions. However, it lacks official documentation in order to arrange all legal
effects, as the Algerian legislator stipulated a set of procedures for registering the
customary marriage, but they did not achieve the intended goal.

Moreover, there are many problems before the Algerian judiciary related to
establishing lineage and documenting marriage, which exceed thousands of cases
annually. Therefore, it was necessary for the Algerian legislator to enact deterrent
penalties to reduce the phenomenon of customary marriage.

Keywords: Customary marriage; Registration; proof; Documentation; Algerian

legislation.
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